
Solution to 9.68 on page 712 of Dynamics. 3

Part (c)

To find the displacement transmissibility, we divide the amplitude of the response by the amplitude of the

ground’s vibration. To find the amplitude of the response, we first define E and F as follows
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and then, since sin !0t and cos !0t are orthogonal, the response amplitude D is given by
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Expanding the term under the square root Q, we obtain
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Substituting Q back into the expression for D, we obtain
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Finally, since the displacement transmissibility, DT, becomes
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